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W ER 4 & ER e .
g (fEL) Tk (EEZ) T
i F s (%)
Mok s 3 21 (10) 8 (8) 4.44%%*
ok kS 62 (20) 28 (23) 4.95% %
“t4 % 2 42 (13) 18 (13) 5,90%**
& SRR
g B T 0.10 (0.31) 0.10 (0.31) 0.00
5 g 0.20 (0.52) 0.10 (0.31) 0.74
BEM % 0.60 (0.94) 1.35 (131) | —208* |
4 4 R 0.90 (1.15) 1.55 (1.28) 153
TEE PR (4 4) 6.25 (1.79) 6.60 (2.14) —0.56

*p < .05, ***p <.001
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o FE5R B4 $7 ¢
o FBRFR - p>.05
# Ep 2 (T35181.82%) )
&4 Ff . (L35158.73%) )
o % & B A F7 ¢
LVEF R BRI b s % - il AR
EATRF R -« TIOpHARLIEYE ~ 5 9% Bl R AL g«c

g% 2 Z= 2 T P
‘ Ll 59 ‘\; ) 13 ) l Ll 41 \‘; '.E—
N ’ N ’ ;." & /,‘ %
Ll | e 4 Ll | = 7 ( L | /i-

% - i g AARPE R 15.36/2.21 6.64/0.88 2.68/2.35
7 5k ] et AR =T B 15.55/14.90 23.70/24.00 —2.09/-2.23
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=S| AN S NPE:

e Calculate the frequency transition matrix

e Calculate the sequential transition conditional
probability matrix

 Calculate the expected-value matrix
 Calculate Adjusted Residuals Z-score values
o A Z-value greater than +1.96 indicates yes (p < 0.05)
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